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Stellenwert untersuchen

Name:

Bestimme, welche Auswahl die Frage korrekt beantwortet.

1)

3)

5)

7)

9)

Which choice has adigit in the zehnern 2)
place that is exactly twice the value of the

digit in the billions place?

A. 297

B. 145

C. 456

D. 247

Which choice has adigit in the einern place  4)
that is exactly twice the value of the digit in
the zehnern place?

A. 48
B. 97
C. 42
D. 96

Which choice has adigit in the einern place  6)
that is exactly three times the value of the
digit in the zehnern place?

A. 1426
B. 4.523
C. 2475
D. 4.783

Which choice has adigit in the zehnern 8)
place that is exactly four times the value of

the digit in the einern place?

A.41

B.71

C.23

D. 27

Which choice has adigit in the millions 10)

place that is exactly five times the value of
the digit in the billions place?

A. 53.157
B. 53.689
C. 93.287
D. 46.539

Which choice has adigit in the zehnern place
that is exactly twice the value of the digit in the
billions place?

A.7.364

B. 3.982

C.5.812

D. 5.438

Which choice has adigit in the billions place
that is exactly three times the value of the digit
in the ten millions place?

A.1.648.312
B. 3.795.841
C. 6.824.179
D. 4.286.713

Which choice has adigit in the einern place that
Is exactly three times the value of the digit in the
zehnern place?

A. 257.618
B. 659.139
C. 654.321
D. 921.645

Which choice has adigit in the hunderten place
that is exactly four times the value of the digit in
the millions place?

A.28.579
B. 61.937
C.52.348
D. 84.592

Which choice has adigit in the zehnern place
that is exactly six times the value of the digit in
the einern place?

A.13
B. 28
C.61
D. 86

Antworten

10.
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Stellenwert untersuchen Name: L Osungsschlissel

Bestimme, welche Auswahl die Frage korrekt beantwortet. Antworten
1) Which choice hasadigit in the zehnern 2) Which choice has adigit in the zehnern place D

place that is exactly twice the value of the that is exactly twice the value of the digit in the 1

digit in the billions place? billions place?

A. 297 A.7.364 2 _A

B. 145 B. 3.982

C. 456 C.5.812 3 _A

D. 247 D. 5.438

. A

3) Whi_ch choice hagadigit in theeinern_pl_a(_:e 4) Whi_ch choice hasad_igit in the billions plac_e_ c A

that is exactly twice the value of the digit in that is exactly three times the value of the digit

the zehnern place? in the ten millions place?

A.48 A.1.648.312 6. B

B. 97 B. 3.795.841

C. 42 C. 6.824.179 7 _A

D. 96 D. 4.286.713

g A

5) Which choice hasadigitintheeinern place 6) Which choice has adigit in the einern place that 9 A

that is exactly three times the value of the Is exactly three timesthe value of the digit inthe ||

digit in the zehnern place? zehnern place?

A.1.426 A. 257.618 . C

B. 4.523 B. 659.139

C. 2475 C. 654.321

D. 4.783 D. 921.645
7) Which choice has a digit in the zehnern 8) Which choice has adigit in the hunderten place

place that is exactly four times the value of that is exactly four timesthe value of the digit in

the digit in the einern place? the millions place?

A. 41 A. 28.579

B.71 B. 61.937

C.23 C.52.348

D. 27 D. 84.592
9) Which choice has adigit in the millions 10) Which choice has a digit in the zehnern place

place that is exactly five times the value of that is exactly six times the value of the digit in

the digit in the billions place? the einern place?

A.53.157 A.13

B. 53.689 B. 28

C.93.287 C.61

D. 46.539 D. 86
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